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A%f0=_ = 4%2=__ T x2=_
10x11=____ 63+9=___ 4x8=
5x{42=____ qAx{0=___ 5x7=
80+10=___ 3x9=___ 9x4=
8x6=__ 132+12=___ 12x9=___
12x7e____ Exp=___ Qg®1=___
4x11=___ 9x9=__ 4+4-=
12442%__ 12x8=__ 2m1{s___
Axdd=__ @%F=___ = 9#Z=
35+5=__ 77T+ 11=_____ 63+7=_____
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Chapter 26: Division 3

Share 7 armbands egually omoeng 3 swimmers. Each gets 2 @
There is 1 armband left over Here ore 4 division sentences for this:

8) 7+2=3 remainder 1| [ 315‘-, ] [‘d L F"%-an ]

1

Make triangles using 10 straws (3 straws make 1 triangle).
(o) How many triongles con you make? ____

(b) How many straws ore left over?

(<) Division sentence 10+3= R

Make squares using 15 lollipop sticks (4 sticks for 1 square).
(o) How many squores did you moke?

(b) How many sticks are lefr over?

(c) Division sentence: 4 E R

There are 18 small paint pots. Put 5 pots on each of the 3 trays.

(a) There are ___ paint pots altogether

(b) Eoch paint troy gets ___ pots.

(¢) There ore pots remaining

(d) Division sentence.  +5= R
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